Suppose oAddend]l =55, oAddend2 = 34, and oSum = 21

Registers

EBP ££9£2158

Memory

££9£2158

f£9£215c

££9£2160

f£9f2164

£f£9£2168

!

ff9f21a8

08048609

£7£fb0008

£7£41008 oAddend?2
£7£84008 |—oSum |

Stack

£7£fb0008

00000001

00000037

00000000

00000000

£7£d40008 00000000

£7£d41008 00000001

00000022
£7£d1010 00000000
£7£d1014 00000000

£7££1008 00000000

| £7£8400689) 00000001
£7£8400c 00000015
£7£84010 00000000
£7£84014 00000000

£7£a4008 00000000

oAddendl->iLength
oAddendl->auibDigits[0]
oAddendl->auiDigits|[1]

oAddendl->auiDigits[2]

oAddendl->auibDigits[32767]

oAddend2->iLength

oAddend2->auibDigits[0]
oAddend2->auiDigits[1]

oAddend2->auibDigits[2]

oAddend2->auibDigits[32767]

oSum->iLength

oSum->auiDigits[0]

oSum->auiDigits([1]

oSum->auiDigits[2]

oSum->auiDigits[32767]
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